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surface continues as described in case (4). Therefore,
from this moment the following equations are effective:

'—-t/ZTo
g2 = Rie sin (B, + t/T:) - - (65)
R1 _t/zTo
s =—e sin (v — B, — t/T\) (66) (see equations
7

32 and 35).
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Where tg v = ——

1

The constants R. and 8. have to be determined from
the value of z and s computed for t = 1. In order to
obtain an easier computation, we measure the time for
the second period from the moment of the completed shut-
down, so that the following equations for the determina-
tion of the constants R, and B, are in effect :
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R sinkBy! = 2,
z’l'
R, cosB, = sy +

)
2/ 0
where z, and s, are limiting values of the first period.
The demonstration of the movement may be developed
according to the same method as in case (4). For the com-

putation of the value of the most practical importance
(the maximum elevation), we get
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2 To
zmax = R, e sinv o

(3) Pracricar Exampre.—The computation in Cot::
nection with the preceding example follows for a sht 2
down in 10, 100 and 200 seconds, with a discharge of 53
cubic feet per second.



